Build a U digit number from the given parts
Write the U-digit numbers

O =1,000+900+50+9 (11) = 3,000 + 300 + 70 + 1
O, =4,000+900+30+6 (12) = 4,000 + 100 + 40 + 1
@ =90,000 + 200 + 70 + 2 @ = 8,000 + 600 + 40 + 2
(@) = 6,000 + 900 + 50 + 4 = 7,000 + 800 + 70 + 2
) =3,000+300+50+9 (15) = 3,000 + 600 + 20 + 3
@ = 9,000 + 700 + 90 + 5 = 4,000 + 200 + 90 + 4
O =1,000+700+ 70 +4 (17) = 4,000 + 900 + 20 + 9

_=6,000+100+70+4 = 2,000 + 800 + 80 + 8
@ = 8,000 + 100 + 30 + 0 = 7,000 + 300 + 30 + 2

= 1,000 + 300 + 70 + 1 = 4,000 + 800 + 60 + 7
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Answers

@ 1,959 =1,000+900+50+9 @ 3,371 =3,000+ 300+ 70 + 1
@ 4,936 =4,000 +900 + 30 +6 @ 4,141 =4,000 + 100 + 40 + 1
@ 9,272=9,000+ 200+ 70 + 2 @ 8,642 = 8,000 + 600 +40 + 2
@ 6,954 = 6,000 + 900 + 50 + 4 7,872=7,000+ 800+ 70+ 2
@ 3,359 =3,000+300+50+9 @ 3,623 = 3,000 + 600 + 20 + 3
@ 9,795=9,000+ 700 +90 + 5 4,294 = 4,000 + 200 +90 + 4
@ 1,774=1,000+ 700 + 70 + 4 @ 4,929 = 4,000 +900 + 20 +9

w=6,000+100+70+4 2,888 =2,000+800+80+8

@ 8,130=8,000+100+30+0 7,332 =7,000 + 300 + 30 + 2

(10) 1,371 = 1,000 + 300 + 70 + 1 4,867 = 4,000 + 800 + 60 + 7
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Build a U digit number from the given parts
Write the U-digit numbers

@ = 5,000 + 100 + 40 + 4 @ = 3,000 + 600 + 10 + 0
O =8,000+300+10+0 (12) = 5,000 + 100 + 10 + 8
© =3,000+300+50+7 (13) = 4,000 + 300 + 80 + 5
(@) = 1,000 + 300 + 50 + 6 = 9,000 + 600 + 50 + 7
) = 4,000 +600+50 +2 (15) = 5,000 + 300 + 50 + 0
() = 9,000 + 900 + 90 + 0 = 1,000 + 700 + 30 + 5
@ = 3,000 + 700 + 20 + 8 @ = 2,000 + 500 + 10 + 4

(8) __ =5,000+200+10+0 = 3,000 + 400 + 90 + 0
(0 = 9,000 + 600 + 50 + 7 = 8,000 + 700 + 50 + 4

= 2,000 + 500 + 30 + 0 = 7,000 + 100 + 70 + 2
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Answers

@ 5,144 =5,000+100+40+4 @ 3,610=3,000+600+10+0
@ 8,310 =8,000+300+10+0 @ 5,118 =5,000+100+10+8
@ 3,357 =3,000+300+50+7 @ 4,385=4,000+300+80+5
@ 1,356 =1,000 + 300 + 50 + 6 9,657 =9,000+600+50+7
@ 4,652 = 4,000 + 600 + 50 + 2 @ 5,350 =5,000+300+50+0
@ 9,990=9,000+900+90+0 1,735=1,000+ 700+ 30+ 5
@ 3,728 = 3,000+ 700 + 20 + 8 @ 2,514 =2,000+500+10+4

w=5,000+200+10+0 3,490 = 3,000 +400+90+ 0

@ 9,657 =9,000+600+50+7 8,754 =8,000 + 700 + 50 + 4

M=2,000+500+30+0 7,172 =7,000 + 100 + 70 + 2
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